e You are going to answer 80 multiple choice questions. The exam includes 8 sections.
e The followings are just EXAMPLES for the sections of the exam.

VOCABULARY&GRAMMAR

1. The weather ___ cloudy for days before it to rain.
A) had been / started

B) have been / never starts

C) was / had never started

D) have been / have never started

2. They are planning to sell their Jeep Grand Cherokee and buy something smaller and
A) the most economical

B) most economical

C) as economical as

D) more economical

3. The hospital claims that the care they provide is of high :
A) imply

B) measure

C) facility

D) quality

CLOZE TEST

“What makes us strong as human beings makes us weak money managers,” said Daniel Crosby, (1)

book “The Futures is Behavioral” was introduced in a seminar in the Financial Planners Association in
Chicago (2) Wednesday. He added that fear is (3) into the human — and animal — brain, and
we have a tendency to avoid (4) . We do not like losing. (5) ____, he noted that “the body has a huge

impact on how we make all decisions, including financial decisions.”

1. A) whose
B) when
C) who
D) where

2. A)in
B) at
C)from
D) on

3. A) alien
B) foreign
C) accidental
D) inborn

4. A) boost
B) aid
C) loss
D) gain

5. A) Furthermore
B) On the contrary
C) On one side
D) However



SENTENCE COMPLETION
1. The young boys started to run .

A) while they are having fight over a trivial subject
B) as the police officers have made the announcement
C) when they saw the police car coming

D) when they have heard the fire alarm

TRANSLATION(E/T)

1. The most effective way to protect forests is to not cut down trees, but this alone might not be enough to
preserve biodiversity in our forests.

A. Agaclarin kesilmemesi ormanlar1 korumak i¢in en etkili yontemdir ama bunun yalniz basma
ormanlarimizdaki biyolojik ¢esitliligi korudugunu séylemek yeterli degildir.

B. Ormanlar1 korumanin en etkili yolu agaglar1 kesmemektir ama bu ormanlarimizdaki biyolojik ¢esitliligi
korumak i¢in tek basina yeterli olmayabilir.

C. Ormanlarimizdaki biyolojik cesitliligi korumak icin agaclar1 kesmemek yeterli degildir fakat en azindan
ormanlarin kendisini korumanin etkili bir yoludur.

D. Agaclarin kesilmemesi ormanlar1 korumanin en etkili yolu olsa da bu ormanlarimizdaki biyolojik cesitliligi
korumada yeterli olmayabilir.

TRANSLATION(T/E)

1. Bir¢ok dolandirici e-mail gondererek veya cep telefonu mesajlariyla insanlar1 dolandirmaktadir.
A. Most swindlers use e-mails or mobile phone messages in order to cheat people.

B. It is easy to cheat people using e-mails or cell phone messages.

C. Many swindlers cheat people by sending e-mails or by cell phone messages.

D. Most people are cheated by swindlers through e-mails or cell phone messages.

ODD ONE OUT

1. (I)Every year in Alaska there is a huge race with sleds pulled by dogs. (II)It is called the
Iditarod dog sled race. (III)Fifty-six sleds leave downtown Anchorage to start the race. (IV) The
men and women who guide the sleds are called mushers. It takes ten days to two weeks before
reaching the finish line at Nome on the other side of Alaska.

A) 1 B)II OII D)V



PARAGRAPH COMPLETION

1. Cosmetics have been used for thousands of years to improve the appearances of people and also to help
keep them clean and healthy. We know that cosmetics were often used in ancient Egypt. Many beautiful jars
and bottles which held oils and perfumes, have been found, and can be seen in museums. Men, in some
primitive tribes and societies also paint their faces and bodies. This is usually done to show that they are of
some high rank. Sometimes, however, it is used to show that the people of that group are taking part in some
form of ceremony. Today, in our society, cosmetics are usually used to improve the appearance of people and
to make them appear healthy. It is not difficult to obtain cosmetics today. Many are made cheaply from
synthetic materials and vegetable oils. Cosmetics not only make people look good but also

A. are placed in museums
B. establish the social rank of people
C. help maintain an appearance of health

D. can be used in place of vegetable oils

READING PASSAGES

The polar bear is a very big white bear. We call it the polar bear because it lives inside the Arctic Circle

near the North Pole. There are no polar bears at the South Pole. The polar bear lives in the snow and ice.

At the North Pole, there is only snow, ice and water. There is not any land. People can not see the polar bear
in the snow very well because its coat is yellow-white. It has a very warm coat because the weather is cold
in north of the Arctic Circle. Some people want to kill the polar bear for its beautiful coat. This bear can
stand up on its back legs because it has very wide feet. It can also use its front legs like arms. The polar bear
can swim very well. It can swim 120 kilometers in the water. It catches fish and sea animals for food. It goes
into the sea when it is afraid.

1. According to the passage, at the South Pole_ .
A) polar bears live in water

B) there is no land

C) there aren’t any polar bears

D) the weather is cold for polar bears

2.The polar bear .

A) has a beautiful yellow-white coat
B) can’t swim well in snow

C) can stand up on its arms

D) lives in the warm weather

3.People can see the polar bear inthesea .
A) when the weather is warm

B) when it feels afraid

C) at the South Pole

D) because it has a white coat
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